
EE 434
Lecture 14

MOSFET Device Modeling
Large signal model
Small signal model



Quiz 11 Assume a device is characterized by the two equations

V1 = 2V2
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Determine the
1) DC model for the device 
2) Small signal Y parameter model for the device at the operating 

point V1 = 1V, V2 = 1V 
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And the number is ….
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Quiz 11

Solution

Assume a device is characterized by the two equations

V1 = 2V2
2 I1 ⎟
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Determine the
1) DC model for the device 
2) Small signal Y parameter model for the device at the operating 

point V1 = 1V, V2 = 1V 

&

1) DC model: I1 = V1/2V2
2 &

2) Small signal Y model:
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